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Multiplication and Division Knowledge Organiser
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Fractions Knowledge Organiser
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Length and Perimeter Knowledge Organiser
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Length and Perimeter Knowledge Organiser
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Mass and Capacity Knowledge Organiser
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Reading Scales

Mass

Knowledge Organiser
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Each of the melons has a mass of 6kg but the arrows are all pointing
at different points on the scales. This is because each of the measuring
scales have different increments marked on them.

Always look carefully at how the numbers on the scales increase
when reading a measurement.

Add and Subtract Mass

Measuring containers all have different capacities.
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Properties of Shapes Knowledge Organiser
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Properties of Shapes Knowledge Organiser
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Statistics Knowledge Organiser
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Statistics Knowledge Organiser

Tables Pictograms
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Number and Place Value Knowledge Organiser
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Addition and Subtraction
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Addition and Subtraction Knowledge Organiser
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